RESET

NexBus® Slave
State Machine

(Deassert BLKNBL™)

/_ IGALE
7 i IDLE
GXACK
t IGXHLD
GALE
GXHLD
¢ : SubtractiveSlave ISubtactiveSlave
Wait2 Wait1 & IDecode Assert TAL
Decode
- ISubtactiveSlave &
ISubtactiveSlave & Decode B
& IDataReady & ITAL Decode & TAL Condition
ISubtactiveSlave &
d Decode &
DataWait0 DataReady & ITAL
IDataReady DataReady
(IBlock4 + CantDoBlock4) &
GXACK & IGXHLD IGXACK + GXHLD
/ Block4 & !CantDoBlock4 &
IDataReady & GXACK & IGXHLD
GDCL & | Block4 & !CantDoBlock4
Qeady(:ycle e eady & DataReady & GXACK &
; 1
DataWait1 IR
DataReady
GXHLD & (IGDCL +
GDCL & ReadyCycl
\ SR IReadyCycle)
IGXHLD & (!GDCL +
IReadyCycle) & IDataReady
IGXHLD & (IGDCL
+ |IReadyCycle) &
- DataReady
DataWait2
|DataReady DataReady
GXHLD
IGXHLD &
|DataReady
IGXHLD &
. DataReady
DataWait3
IDataReady DataReady
GXHLD
Rev 0.1
Last Data ICXHLD 9/22/95

NexGen Confidential



NexBus® Master Write
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NexBus® Master Read
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Definition of Terms

1. All transitions occur on the rising edge transition of NxCLK.

2. “I” is used to indicate a given signal is negated/deasserted. It applies to both active high and active low
signals. For example, !|GNT* means GNT* is deasserted (high state).

3. Active low signals are indicated by a names ending in *. (i.e. GNT*)

4. “&” indicates two terms are logically ANDed together. “+” indicates two terms are logically ORed
together.



